Trigonometric Functions - Class XI

Related Questions with Solutions

Questions

Quetion: 01

The expression cos Acos 2A cos4A cos 8A ...cos 2/ ~ 1a equals
2"sin A
sin2n
B sin Q”ﬂ
ongin A
c 2"sin 2" A

sin
sin

ongin2n A

Solutions

Solution: 01
cos 2°Acos 2 Acos22Acos22A .. . cos 2V A

1
= Sen A (sin2A cos24) cos22Acos2°A ... cos 2" 1A
i
= e A (sin4Acos4A)cos2®A... . cos2" A
= S (2sin4A cos4A4) (cos 23A) ...cos2"TA
sin
Repeated the process n times, we have
~ sin2"A
~ 2nsin A
Correct Options
Answer:01

Correct Options: B



